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 GENERAL INSTRUCTIONS:    

1 All the questions are compulsory. 

2 The question paper consists of 29 questions divided into three sections A , B & C.

             3 Section A contains 10 questions of 1 mark ,each Section B is of 12 questions of 4 marks each & Section C is of 7 questions of 6 marks each.
SECTION-A
1. If f(x) =
[image: image3.wmf]1

1

+

-

x

x

; x
[image: image4.wmf]¹

-1, then find 
[image: image5.wmf]f

1

-

(x
[image: image6.wmf]).

2. Find the value of cosec (sec
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3. Show that the matrix A= 
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4. If
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5. If A=
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6. Evaluate   
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7. Evaluate   
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8. Find the angle between two vectors 
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9. Find 
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10. Find  
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SECTION-B

11. Let A=Q
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a. The identity element of a (A,
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b. The invertible element of (A,
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12. Prove that :
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13. Using the properties of determinants; show that      
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14. Determine the value of constant k so that the function f(x) =
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15. If y=
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16. Find a point on the parabola y = ( x – 3 )
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, where the tangent is parallel to the chord (3,0) and (4,1).

17. Evaluate   : 
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18. Evaluate   : 
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19. Find the scalar components of a unit vector which is perpendicular to the vectors 
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20. Find the equation of the plane passing through the point (1,1,-1) and perpendicular to the planes x+2y+3z-1=0 and 2x-3y+4z=0.

21. Solve the differential equation e
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22. Three students A,B&C are given a question to solve . Their respective probability to solve the question are 
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SECTION-C

23. Solve the following system of equations by matrix method : 5x-7y+z =11 , 6x-8y-z =15 and 3x+2y-6z =7.

24. A window is in the form of a rectangle surmounted by a semi circular opening . The total perimeter of the window is 10m. Find dimensions of the window to admit maximum light through the whole opening. 

25. Find the area of the region enclosed between the two circles x
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26. Solve the differential equation (1+e
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27. Let X denote the number of hours you study during a randomly selected school day. The probability that X can take the values x have the following form where
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 is some unknown constant .


P(X=x) =  
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(a) Find the value of k.

(b) (b)What is the probability that you study at least two hours. Exactly two hours. Almost two hours

28. find the distance of the point (-1,-5,-10) from the plane x - y + z = 5 measured parallel to the line 
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29. Suppose every gram of wheat provides 0.1gm of proteins and 0.25gm of carbohydrates and the

(c) corresponding value for rice 0.05gm and 0.5gm respectively. Wheat costs Rs.10 and rice Rs.40 per Kg

(d) The  minimum daily requirements of proteins and carbohydrates for an average man are 50gm and 

(e) 200gm  respectively . In what quantities should  wheat and rice be mixed in the daily diet to provide the 

(f) Minimum daily requirements of proteins and carbohydrates at minimum cost .  
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